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The question paper comprises of two Sections, A and B. You are to attempt both the sections.

All questions are compulsory.

There is no choice in any of the questions.
All questions of Section-A and all questions of Section-B are to be attempted separately.

Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in one

word or in one sentence.
Question numbers 4 to 6 in Section-A are two marks questions. These are to be answered in

about 30 words each.
Question numbers 7 to 18 in Section-A are three marks questions. These are to be answered in

about 50 words each.
Question numbers 19 to 24 in Section-A are five marks questions. These are to be answered in

about 70 words each.
Question numbers 25 to 33 in Section-B are multiple choice questions based on practical skills.

Each question is a one mark question. You are to select one most appropriate response out of

the four provided to you.
Question numbers 34 to 36 in Section-B are questions based on practical skills. Each question

is a two mark question.
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_/ Draw the structure of propanone.

8 vom & o1 wefiht g wmem §7

What type of flowers are called unisexual flowers ?

UF Ul we e fafad) et v ot @t W e 9d 8

Suggest a food chain in which one of the trophic levels is occupied by human beings.

TR F T & e fafad
State the laws of reflection of light.

fe Feqol St et @ e, T T-sieaEe § uRahia @ S A saw w9 @ e
What will be the consequences if all the carbon of all fossil fuels is converted into carbon
dioxide ?

iy weETel A Froet % g g T et faf W e 312w 5 58 e
gfte #ifeg)

Recycling is considered as a welcome practice to deal with the environmental problems.
Justify this statement with two arguments.

() = sk g Hw oit srHg e T s W wifg
(i)  CgH,, 3R C,H, %1 M fafed oo 571 s smd
jj)’ Distinguish between saturated hydrocarbon and unsaturated hydrocarbon with the

help of combustion process.
({) Write the chemical names of C4H; and C,H, and draw their structures.

AN

N

FAT SR S i e TRl ¥ s @ e ¥ @ & F i s ffan)

State three reasons for placing chlorine and bromine in the same group of periodic table.

TESIHET § 39 1 gagd 7 ﬁ%ﬂéﬁmﬁ#qﬁﬁqmrﬁm%mqﬂmﬁ
forfad | 30 vt o1 weas g o smtfiaa Fifm

What do you understand by hydrocarbons ? Stating the general formula for alkenes with
write the fermula for an alkene with five carbon atoms. Draw the structural formula for this
alkene,

LI

10 fost 9T #1 99 16 997 31Ed 3§ @ R

- () T reERtE e fafad
(i) T 0GR & APA - YA Ay RO SR 2
(i) 9% eEEE & T fofEd |
?. element X is placed in group 16 and period 3.
1) Write the electronic configuration of it.
(i Which type of ion - cation or anion, will be formed by it ?
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(il  Write the formula for its oxide.

R o @/W*mﬁ,ﬁ#mw%ﬁtmmﬂmmwﬁmﬁmw#?
Ab) IR TER B E ?
¥ ¥ 59 THR % 3 o wed &2

(a) What function is performed by human arms, forelimbs
?

(b)  Which type of organs are these ?
(c) Why do we call them so ?

JZ/(a) mﬁﬂnﬂmﬁﬂmﬁ%ﬁﬁﬁnﬁmmmﬁﬁm
il A gen & wHt ?
AIDS ® fora YR Je1 1 w1 87

(b)
Q)/ Woman had undergone surgical me
. this protect her from getting sexually transmit

\9}/ How can AIDS be prevented ?
mﬂﬂﬁﬁammﬁﬁﬁmwﬁaﬂﬁuﬁiﬂaﬂﬂ%?

Explain how do proteins control the characteristics in plants ?

¥
g@ e e @ e e 47 9w .
J

of dog and forelimbs of whales

ok 7 7 T A W

thod for preventing unwanted pregnancies. Does
ted diseases ?

Why does Planaria reproduce by regeneration ? Explain the process.

) ﬂ%@tuﬁﬁtﬁﬁtﬁ#mﬁmaﬁﬂ%mﬁﬁ:mmﬁlﬁﬁn
) mmﬁﬁﬁmﬁﬁxﬁaﬁaﬁwu@ﬁﬁlﬁmmwt?aﬁéﬂmfﬁfm|

() Name the method used by plants like sugarcane and roses for their reproduction.
(b))  How is this method better than other modes of asexual reproduction 7 Give any two

points.
16 (a) mﬁﬁ@ﬁamgaﬂﬂmmt@aﬁﬁﬁﬁaqﬁh
() Eﬂgﬁﬂ#aﬁﬁaﬁﬁmmt? '

/(a) Explain how are we able to see nearby as well as the distant objects clearly.
j:}/’ Why is a rainbow seen in the sky only after rainfall ?

j?/ At Aivef o & fore 7 Wit Fag oRuE & & fram fafed
{b) fird aTe QfW ¥ TR F A ™A o AN R E e wEfi mmow
antfiEa Sty 1

.(-d{ Write two rules of the new Cartesian sign conventions for spherical mirrors.
?)/ Trace the path of the reflected ray by drawing a ray diagram when the inicident passes
fom centre of curvature of a concave mirror.

‘9/ fireft W (AR S F 5 39 78 VAR F1 ¥ afiin e s @ R, e S & FRH
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ot / v o T R

7
) mﬁmﬁm%wmmﬁmwﬁﬁrwﬁ
(i) € 9 F T %) vl F & S 78 T WA el
(i) e g o el w1 srEder @ Y X7
Sunday morning scene in a household is somew
washing car with the hosepipe, daughter is brushing with _
Lt;?lore than half an hour and the mother is washing the floor wi

i

hat like this : Washing machine is on, father is
the tap on, son is enjoying shower
th bucket full of water.

What changes in the above situation can be done to conserve water ? \
Why do we need to conserve water when water is non - exhaustible renewal resource ’

i
i)  What values are being neglected by the family ?

_} e Aol 3 14 F W ¥ < W FR (v e ) ok Faferi (T we 14) # 5
,é) M Tl % g o fafew)
«b) T gaEa 9@ S
39 o 1 AW fafay i st g weners ¥ oo 3o SR wfed e
TR &Y fF 3 9e9 g & 7 stug ? A9 IR RO iga o)
e two members of group 14 in the periodic table are carbon (atomic no.6) and silicon
(atomic no.14). )
(a) Write electronic configuration of both elements,
(b)  Deduce their valencies.
(c) Name the element which is more electronegative with proper reason.
(d) Find out whether these elements are metal or non-metal ? Give reason for your
answer,
jﬂ (A) (B) 5
5[ o3 £, T
-0 Nkt
A F 1% 5 #
Frt T
) T
L .3
( Py
/f/_ v g -
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(a) Wﬁmmnﬂaﬁuﬁmﬁgaﬁqﬁm,
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(A) (B)
+ 1 Ny
- C .7 White
Purple
i
— » Self pollination
R
L&
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b " t |

Why do we say that F1 plants in this case are hybrid ?

Fpom the figure given above :
a Identify the flowers having dominant and recessive trait.
What is the percentage of homozygous purple and homozygous white in Fa

generation ?
}Y ()  DNA %! 377pfd | 34 @1 wifvenrd 595 41 &l € 7 faesa wh & 78 9 sHR A S
T Tl & 7

() TR fafism o =1fe § 39 ofieds ot & =g 3 et wivie = o= 999 9% 3m
sitferan % forg 3wt 21 39 w99 91 gfe it
F1 S T DNA ITF F Ry 2 sravas 32

NS
.('A]/ The two cells formed after DNA copying are similar but not identical. What reason can
 be associated for this 7
})/ Variation though leads to certain changes in an individual but is useful for the
survival of species over time, Justify this statement.
Is the consistency of DNA copying important during reproduction ?

2
% Y wE ¥ weg o et fafan
/(;;i/ T U Y9 FHER R0 e & e A e @ e
(iii) mﬁmﬁm&ﬁaﬁwﬁtﬁmﬁﬁmqﬁﬁw#%ﬂm%mﬁm
ST B &2
ﬁyﬁmﬁaﬁaﬁﬂsﬂmwﬁﬁﬁﬁ@%mﬁ%mﬁm%

Page 50f 11

Downloaded www.jsuniltutorial.weebly.com/



\\ b 0 —_—
b F e - - I NN . E —

A CBSE C::acﬁing for ST@fhcmatlcs and Science

Define spectrum of light.

What happens when a ray of white light is passed through atriangular glass prism ?

With the help of diagram show what will happen if another similar glass prism is
placed upside down behind the first prism.

In the following figure id
spectrum.

entify A and B which represent extremecolours of the

S s o s, wion st AEhia siafam T ¥ 1w fag ofrna w wim A s
@wmﬁaﬁgﬁmuﬁﬁwm‘rmmqﬂmﬁmammmmﬂ
|
}b)/ Frex Rt 3 fere o v weed | feism it g, o s e g -
() 39 oW & fofe 9@ g ¢ 3 ok % v e @
(i) 30 AW F fore sfa Tg e W A
(a) A concave mirror forms a virtual, erect image. Mention the sign convention used tor
JB)/ writing object distance, image distance, focal length and height of image with signs

Draw ray diagram for the following cases and write nature, position and size of image
formed.

(i) For a convex lens when an object is in between 2F and F.
(i) For a convex lens when an object is at F.

24 Gmﬁa%mmﬁmmfa%ﬁmmmtmﬂqﬁwmum S
WO F T H R0 F1 9w <9 € s wif

Compare the refraction of light through a revtangular glass slab and a trian
Draw diagrams showing path of light ray in each case.

gular glass prism
M-8/ SECTION - B

25 ﬁhwmﬁﬁﬁmmmmﬁwmwmmtmmhmmv
(@ wfem e (b) AT ez
() ®fem agge )  wifzan Fwre
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Which of i ;
) gog'fe followmg chemicals is added to soap to make it hard and compact ?
um chloride (b) Sodium sulphate

(©)  Sodium nitrate (d)  Sodium carbonate

26 , '
Waﬁm&:m,ﬁawmamwrmﬁwmmmhﬁmwt: 1

A

frofeprie b A
sotn . frapssit
] £ I
ﬁnmﬁﬂu&m&mmﬁwﬁﬁaaﬂw%mt:
(@) T A (b) WA B
()  ww@TeEt ¢ (d)  wEes p

During saponification reaction, oil and alkali are reacted to give soap as shown below :

Glhveerol Soap Soap
: Glyeerol b, [‘|: cerol
= Soap
A
. ' D
The test tube in which the process is correctly depicted is
(@  Testtube A (b)  Testtube B
(c) Test tube C (d) Test tube D
27 I T | FYL °3 7wy 1

(a)  HEA AW T 8

(b)  WEA F @D W wE I F I
() 8EA F 3fuw um I 1 9 2
(d) FEA == g @

While washing clothes in hard water,

(@) soap torms lather,

(b)  smallamount of soap is used.

() large amount of soap is used.
(d)  soap gives a clear solution.

28 iC e ‘X' F RIFH A : - g
mmaﬁ;@ {ﬁﬁmﬂmhmuwmmmndmml
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Prachi determined the focal length of a device
shown in the following diagram,

X

‘X' by focussing a distant object on the screen as

i

d
According to  the diagram  select the correct  statement from the

following :
(a) Device ‘X’ is a concave mirror and distance *d’ is its focal length.
(b) Device *X" is a concave mirror and distance ‘d’ is its radius of curvature.

(o) Device “X’ is a convex lens and distance ‘d” is its radius of curvature.
(d)  Device’X' is a convex lens and distance ‘d’ is its focal length.

29 MW%WWWWWM%EI%WQWWWM|WW 1
dtew wfafsa yra w1 & @, 38 <o 1 wwiwfE s am -

(a) @i = AN
(b) BT R wga ) ot feufa @y
(0 @RI

(d) faa = fefa F suR ® o1 @ SR | @ 3 3wE A

A student obtained a blurred image of an object on a screen by using a concave murror. In
order to obtain a sharp image on the screen, he will have to shift the mirror :
(a) towards the screen,

(b)  toa position very far away from the screen.
() away from the screen.

(d)  either away from or towards the screen depending upon the position of the object.
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Refracted ray of an incident ray of light is shown in the given figure. The medium 2 with respect to
medium 1is :

N

L
:\ )

N

{b) Rarer

(a) Denser
(d) Identical

(c) May be denser or rarer

31 TF A 3 R 81 ) wie F B feg A yam # R @ 9y oifed w0 S WM 1
mﬁaﬁmmﬁ%ﬁﬁW|mﬁmﬁ1ﬁ§amﬁmsﬁﬂaﬁﬂ—mwmﬁ?ﬁ%?
(@) T 1-TF ¥ & o i I gEn A waman
(b) o 2- R i e sifr R a0 g @ w e fig st @t

() =W 3- g fag W 40° %1 39aH 1w awraq |
(d) mq-mmﬁﬁmmﬁﬂﬁﬁﬁn@—@ﬁﬁm%m{mmmaﬁ'

IE 3R
The teacher asked a student to describe the steps of the experiment of tracing path of light ray
through a triangular glass prism. He gave following statements. Which one of the fo!lowing is
noet appropriate ?
(a)  step- 1. Take white sheet and pin it up on drawing board.,
(b)  step- 2. Trace the boundaries of given prism on board and draw normal on a point on
its boundary.
() step-3.Drawan angle of incidence of 40° at this point.
(d)  step- 4. Fix two pins-one on left and other on right of prism al i
"y g P ong the line of angle of

32 AR F M & wam v E
@ Mm% b) i ¥
(0 =% (0 @awgds
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The tendrils of Pea plant are modifications of :
(@  stem ’ (b)  leaves
(c) roots (d)  stem outgrowth

33 fea om0 s i ok A g Tifea a1 venf

(b) sfET=
( e (@
Study the figure and identify the part marked as A.

(a)  Plumule (b)

Cotyledons
()  Radicle (d)

Seed

34/ Uifess e F Fo 1on ol o wevrenen § sverm ) ¥ ford s a Q daw a3
()  fodma

(i) el vty
Which tests will you perform in the laboratory to study the following properties of acetic acid
)  Solubility }p’/ Acidic nature
35/ mitan § f We qon i A g A wwE Wed FO W A DE F: A o B Y o
Qe fr w9 fe
A i = Hald wifveed s S @ 99 B §) T A qFE ST A QA 93
B 2 . .
B aﬂmaﬂﬁﬁaﬁﬁm&amﬁemmmmﬂwmﬁmﬂﬁmmil
forarmt Qo Wt & qen A 2
After observing the slides of binary fission in Amoeba and budding in yeast the observations
of two students A and B respectively are as follows :
A The daughter cells of Amoeba are smaller than the parent but bud of yeast is larger
than the parent.
B The daughter cells of Amoeba and the bud of yeast are smaller than their respective
parent cells.
Whose observation is correct and why ?
Page 10 of 11
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In the following diagram some rays coming from .
L,L,. The paths of rays are shown. Select the two rays

refraction through convex lens. Locate the position and size of image.

L,
AN
1

QzF‘l Fl O 2F2

ident tv a4 conves lens

jocl 17 e
A oboying the rules of

which are

I'Q ™ S
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